c P

IIT-NeeT-CBSe

STUDY CIRCLE

ACC:NTS cDUCATIONAL PROMDTERS

MOCK TEST

Enhance your preparation for the CBSE Class 10 Social
Science exam with our meticulously designed Mock Test.
This comprehensive resource is structured to replicate

actual exam conditions, assess your understanding of

WOoD 3|2J10APN|SASD MMM

crucial social science concepts, and refine your analytical

and reasoning skills.

A4

Prepare for CBSE Class 10
Social Science success with
confidence. Order our Social
Science Mock Test now to

> OFFLINE-ONLINE LEARNING ACADEMY
assess, refine, and maximize
your performance in the
upcoming examination.
Approach the exam day with 2 7 3 -

Y SR : ©he Sweccess Dedtiwation
readiness and assurance,
knowing you've thoroughly
prepared for success in social

science!

+91.9939586130

2ND FLOOR, SATKOUDI COMPLEX, THANA CHOWK, I.
+91-7739650505 RAMGARH - 829122-JH 2




A SOCIAL Sc.
srunv CIRCL=E @ MOCK-TeST

ACCENTS SDUCATIONAL PROMOTERS

SOCIAL SCIENCE

MOCHK TEST
C(BS€E-X

Time allowed : 3 Hours Maximum marks : 80

General Instructions :

(i)  The question paper comprises Six Sections - A, B, C, D, E and E. 'There are 37 questions in the Question paper.
All questions are compulsory.

(i) Section A - From Questions no. 1 to 20 are MCQs of 1 mark each.

(ifi) Section B - Question no. 21 to 24 are Very Short Answer Type Questions, carrying 2 marks each. Answer to
each question should not exceed 40 words.

(iv) Section C contains Question no. 25 to 29 are Short Answer Type Questions, carrying 3 marks each. Answer to
each question should not exceed 60 words

(v)  Section D - Question no. 30 to 33 are Long Answer Type Questions, carrying 5 marks each. Answer to each
question should not exceed 120 words.

(vi) Section-E - Questions no. from 34 to 36 are Case Based Questions with three sub questions and are of 4 marks
each. Answer to each question should not exceed 100 words.

(vii) Section F - Question no. 37 is Map Based, carrying 5 marks with two parts, 37a from History (2 marks) and
37b from Geography (3 marks).

(viii) There is no overall choice in the question paper. However, an internal choice has been provided in few questions.
Only one of the choices in such questions have to be attempted.

(ix) In addition to this, separate instructions are given with each section and question, wherever necessary. ~ C

(x)  Note: CBQ stands for “Competency Based Question”. 50% weightage allocated for competency-based questions.

3NITd13H
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SECTION A
MCQs (1x20=20)

1. When was the Paperback editions of books introduced?
(a) The onset of the Great Depression (b) After the First World War
(c) After the Second World War (d) After the 1857 revolution

2.  What does the picture signify?
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(a) Bharat Mata is portrayed being calm, composed, divine and spiritual in an ascetic figure.
(b) Bharat Mata is shown as dispensing learning, food and clothing.

(c) Bharat Mata is portrayed as a symbol of power and authority.

(d) Both (a) and (b)

3. Consider statements given below and choose the correct answer.

* ANITd13H

Statement I : Many of our common foods like potatoes, soya, groundnuts, maize, tomatoes, chillies, sweet
potatoes, etc., were known to our ancestors.

Statement II : Christopher Columbus accidentally discovered the vast continent that is known as the
America.

(a) Statement I is correct but statement II is incorrect.

(b) Statement I is incorrect but statement I is correct.

(c) Both statements I and Il are incorrect.

(d) Both statements I and II are correct.

4. Arrange the following incidents in the correct sequence.

SO0S0SQ6ELL L6 // OEL98BS6E667 16+
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(i) Khilafat Movement (ii) First World War
(iii) Civil Disobedience Movement (iv) Non-Cooperation Movement
(a) (ib), (1), (iv), (iii) (b) (iii), (iv), (i), (ii)
(c) (iv), (i), (id), (iii) (d) (i), (iv), (id), (i)

5. Chotanagpur plateau is considered as a storehouse of minerals because
(i) Over 50% of manganese in India is found in this region.
(ii) Almost half of the mica in India is found here.
(iii) Almost 90% of gold in India is found here.

(iv) The region is rich in coal. s
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(a) (i), (ii) and (iii) (b) (i) and (ii)
(c) (i), (i) and (iv) (d) (i), (ii), (iii) and (iv)
6. Deriyar forest reserve in Kerala is famous for conservation of .
(a) Black buck (b) Asiatic lion (c) Tiger (d) Leopard

7. Complete the following table with options given below :

Kharif Crop Cropping Season One Example
(A)-? (B)-2
A B
(a) Summer Wheat
(b) Winter Wheat
(c) Monsoon Rice
(d) Monsoon Mustard

8. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes given
below.
Assertion (A) : After its Independence, Sri Lanka witnessed the supremacy of Sinhala community.
Reason (R) : Both Belgium and Sri Lanka have democracy and they have to deal with their problems in
similar way.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Ais correct but R is wrong.

* ANIT1d13H

(d) A iswrongbut R is correct.
9. Select the following subjects which are included in the Union List.

(i) Education (ii) Commerce
(iii) Computer software (iv) Banking
(a) (i) and (iv) only (b) (iii) only
(c) (i), (ii) and (iii) only (d) (iv) only

10. Choose the incorrect option:
Studies on political and social inequalities in democracy shows that:

SOS0SQ6ELL L6+ // 0EL198S6E667 L6+

(a) Democracy is not a guarantee of economic development.
(b) Inequalities exist in democracy.
(c) Inequalities exist under dictatorship.

(d) Dictatorship is better than democracy.

SOCIAL Sc.
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11. Match the following columns and select the correct option.

Column I Column II

(A) |Indian National Congress (i) |Deendayal Upadhyaya
(B) |Bharatiya Janata Party (ii) |Kanshi Ram
(C) | Bahujan Samaj Party (iii) |Jawaharlal Nehru
(D) | All India Trinamool Congress (iv) |Mamata Banerjee

@ ® © (O
(a) (ii) (iii) (i) (iv)
(b) (i) (i) (iii) (ii)
(c) (ii) (iii) (iv) (i)
(d) (iii) (i) (ii) (iv)

12. According to “Sexual Divison of Labour™ in most of the families, boys and girls are brought up to believe
that the main responsibility of women is
(a) interference in business

(b) housework and raising up children

* ANITd13H

(c) studying and doing job
(d) managing property

13. There are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes given
below.
Assertion (A) : Democracy is accountable to the citizens and responsive to the needs and expectations of
the citizens.
Reason (R) : Democracy's ability to generate its own support is itself an outcome that cannot be ignored.
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true but R is not the correct explanation of A.
(c) Aiscorrectbut R is wrong.
(d) A is wrong but R is correct.

S0S0S96ELL 16* // OEL98S6E667 16+

14. Which of the following options represent the means through which the government gets to know about its

citizens?

(i) Voter Identity Cards (ii) Aadhar Card

(iii) Passport (iv) Pan Card

(a) (i) and (ii) only (b) (i), (ii) and (iii) only

(c) (ii) and (iv) only (d) (i), (ii), (iii) and (iv) Activ

A SOCIAL Sc.
5 TUIDY CIRCL=E € MOCK-TEST

C(BSE-SOCIAL Sc. A 2 P STUDY CIRCLE

N
Z
o
b
—
(0]
(0]
e
wn
>
—
-~
0]
(=
=
0
(©)
=
-
m
=
—
s
>
Z
>
(@]
o
@)
=
S
b
>
<
@
>
i
=
co
N
0
N
=
T




A SOCIAL Sc.
srunv CIRCL=E @ MOCK-TeST

ACCENTS SDUCATIONAL PROMOTERS

15. What does the given picture signify?

(a) Gram Panchayat (b) Get together of village women
(c) Women's SHG meeting (d) Meeting of Cooperative society

16. What is GDP?
(a) It is the total value of all the goods and services produced during a particular year.
(b) It is the total value of all final goods and services produced during a particular year.
(c) Itisthe total value of all intermediate goods and services produced during a particular year.
(d) Itis the total value of all intermediate and final goods and services produced during a particular year.

17. Match the following columns and choose the correct option.

* ANITd13H

Problems faced by farming sector Some possible measures
(A) | Unirrigated land (i) | Setting up agro-based mills
(B) | Low prices for crops (ii) | Procurement of food grains by the government
(C) | Debt burden (iii) | Construction of canals by the government
(D) | No job in the off season (iv) | Banks to provide credit with low interest
(A) (B) (©) (D)

(a) (iii) (ii) (@ (iv)
(b) (iii) (ii) (iv) (1)
(c) (i) (iii) (ii) (iv)
(d) (iv) (iii) (it) (i)

18. The caste system in Modern India has undergone with which great changes?
(a) Fundamental (b) Socio-economic
{c) Cultural (d) Professional

S0S0S96ELL716% // 0E19856€66716%

19. Which of the following is not a positive impact of globalisation?
(a) Increased foreign investment
(b) Increased imbalance in development
(c) Increased GDP

(d) Increased productivity
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20. Farmers of Maharashtra decided not to sell sugarcane to a particular sugar mill. The mill will have to shut
down. Which of the following sectors are affected due to the refusal of farmers to sell their sugarcane?

(a) Primary and secondary (b) Secondary and tertiary
(c) Primary, secondary and tertiary (d) Primary and tertiary
SECTION B

VERY SHORT ANSWER QUESTIONS (2 x4 =8)

21. Give one point of similarity and one point of difference between magnetite and hematite.

22. (A) Examine the role of missionaries in the growth of press in India.
OR

(B) How printing revolution helped in connecting the various nationalist communities in different parts of
India?

23. How candidates for contesting elections are chosen in the USA and India?

24. Manav needs a loan to set-up a small business. On what basis, will Manav decide whether to borrow from the

* ANITd13H

bank or the moneylender? Discuss.

SECTION C
SHORT ANSWER BASED QUESTIONS (3 x5 =15)

25. Describe the historical event that Hiibner is referring to, in the given image.

SO0S0SQ6ELL L6 // OEL98BS6E667 16+
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26. (A) How are the three sectors of the economy different from each other? Where are most of the people
employed?
OR
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(B) Explain the interdependence of all the three economic sectors giving examples from transportation
system.

27. “Attempts at forced integration often sow the seeds of disintegration™ Support the statement with suitable
arguments.

28. “Secularism is not an ideology of some political parties, but it is one of the foundations of our country”
Examine the statement.

29. Analyse the role of the manufacturing sector in the economic development of India.

SECTION D

LONG ANSWER BASED QUESTIONS (5 x 4 = 20)

30. (A) Describe the process of Unification of : (a) Germany (b) Italy.
OR
(B) Critically examine the achievements of Napoleon.
31. (A) Explain the different methods of controlling soil erosion?
OR
(B) What is the main reason of land degradation? How it can be checked? Explain.

: 3NITd13H

32. (A) “The creation of linguistic states was the first and a major test for democratic politics in our country.”
Justify this statement.

AC

OR

(B) Why does the exact balance of power between the central and the state governments vary from one

federation to another ? Explain with two examples.

33. (A) Why do we use average? Are there any limitations to their use? Illustrate with your own example related
to the development.

OR

(B) Kerala, with lower per capital income, has a better human development ranking than Maharashtra.

SOS0SQ6ELL L6+ // 0EL198S6E667 L6+

Hence, per capita income is not a useful criterion at all and should not be used to compare states. Do

you agree? Discuss.

SECTION E
CASE BASED QUESTIONS (4 x 3 =12)
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34. Read the source given below and answer the questions that follow :
The movement in the towns

The movement started with middle-class participation in the cities. Thousands of students left government-
controlled schools and colleges, headmasters and teachers resigned, and lawyers gave up their legal practices.
The council elections were boycotted in most provinces except Madras, where the Justice Party, the party
of the non-Brahmans, felt that entering the council was one way of gaining some power-something that
usually only Brahmans had access to.
The effects of non-cooperation on the economic front were more dramatic. Foreign goods were boycotted,
liquor shops picketed, and foreign cloth burnt in huge bonfires. The import of foreign cloth halved between
1921 and 1922, its value dropping from ¥ 102 crore to ¥ 57 crore. In many places, merchants and traders
refused to trade in foreign goods or finance foreign trade. As the boycott movement spread and people
began discarding imported clothes and wearing only Indian ones, production of Indian textile mills and
handlooms went up.
(i) Explain the role of “Justice Party’ in boycotting of council elections.

(if) Explain the effect of ‘Boycott’ movement on “foreign textile trade.

* ANITd13H

35. Read the source given below and answer the questions that follows :
Many thought that given the disadvantages and rising resistance against the multipurpose projects, water
harvesting system was a viable alternative, both socio-economically and environmentally. In ancient
India, along with the sophisticated hydraulic structures, there existed an extraordinary tradition of water-
harvesting system. People had in-depth knowledge of rainfall regimes and soil types and developed wide.
ranging techniques to harvest rainwater, groundwater, river water and flood water in keeping with the:

local ecological conditions and their water needs. In hill and mountainous regions, people built diversion
channels like the ‘guls’ or ‘kuls’ of the Western Himalayas for agriculture. ‘Rooftop rainwater harvesting’ was
commonly practiced to store drinking water, particularly in Rajasthan. In the flood plains of Bengal, people
developed inundation channels to irrigate their fields. In arid and semi-arid regions, agricultural fields
were converted into rain fed storage structures that allowed the water to stand and moisten the soil like the
‘khadins’ in Jaisalmer and ‘Johads’ in other parts of Rajasthan.

S0S0S96ELL 16* // OEL98S6E667 16+

(i) Which type of water harvesting system is practiced in Rajasthan and why?
(ii) Why people of Bengal have developed inundation channels?
(iii) What are ‘Khadins’ and ‘Johads’ in Rajasthan?

36. Read the case given below and answer the questions that follow:
The other major source of cheap creditin rural areas are the cooperative societies (or cooperatives). Members
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of a cooperative pool their resources for cooperation in certain areas. There are several types of cooperatives
possible such as farmers cooperatives, weavers cooperatives, industrial workers cooperatives, etc. Krishak
Cooperative functions in a village not very far away from Sonpur. It has 2300 farmers as members. It accepts
deposits from its members. With these deposits as collateral, the Cooperative has obtained a large loan from
the bank. These funds are used to provide loans to members. Once these loans are repaid, another round
of lending can take place. Krishak Cooperative provides loans for the purchase of agricultural implements,
loans for cultivation and agricultural trade, fishery loans, loans for construction of houses and for a variety
of other expenses.

(i) List the various sources of cheap credit in Sonpur.

(ii) How ‘Krishak cooperative’ functions?

(iii) Can everyone in Sonpur get credit at a cheap rate ?

SECTION F
MAP SKILLED BASED QUESTIONS (2 + 3 =5)

37. (a) Two features ‘A’ and ‘B’ are marked on the given political outline map of India. Identify these features
with the help of the following information and write their correct names on the lines marked near them.
(I) The place where the council elections were not boycotted in early 1921.

* ANITd13H

(II) The place where Gandhiji organised Satyagraha in favour of cotton mill workers.
(b) Locate and label any 3 of the following with appropriate symbols on the same given political outline
map of India:
(i) An International Airport in Mumbai
(ii) Software Technology Park of West Bengal
(iii) Tehri = Dam
(iv) Kaiga - Nuclear Power Plant

SO0S0SQ6ELL L6 // 0E19856E667 16+
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1. (a): When the Great Depression in 1930 began,
publishers feared a decline in book purchases and
so to sustain buying of books they introduced cheap
paperback editions.

2.  (d) : The given image was painted by Abanindranath
Tagore, during the Swadeshi Movement in 1905.

3. (b):Statement I is incorrect but statement II is
correct.

4. (a): The correct sequence is as follows :

(ii) First World War (1914-18), (i) Khilafat Movement
March (1919), (iv) Non-cooperation Movement
(1920), (iii) Civil Disobedience Movement (1930).

5. (c):(i), (ii) and (iv)

6. (c) : Manas Tiger Reserve in Assam and Periyar
Tiger Reserve in Kerala are some of the tiger reserves
of India.

7. (c): A - Monsoon, B - Rice

8. (c) : Both Belgium and Sri Lanka dealt with their
problem in different ways.

9. (d):Education comes in Concurrent List,
Commerce comes in State List. Banking is a part of
Union List and Computer Software is a residuary
subject.

10. (d): Dictatorship is better than democracy.
11. (d):(A) - (iii); (B) = (i); (C) = (ii); (D) = (iv)
12. (b): Housework and Raising up children

13. (b): Voter Identity card, Aadhar card, Passport
and Pan card are issued by the government and so they
are used as identity cards.

14. (d): (i), (ii), (iii) and (iv)

15. (c) : The meeting of women’s SHGs (Self Help
Groups)

16. (b):It is the total value of all final goods and
services produced during a particular year.

17. (b): (A) - (iii); (B) = (ii); (C) = (iv); (D) = (i)
18. (b):Socio-economic

19. (b):Increased imbalance in development
20. (a) : Primary and secondary

21. Similarity : Both the magnetite and hematite are
varieties of iron ore.

SOCIAL Sc.
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Difference : The hematite iron ore contains 50 to 60
percent of iron ore but magnetite contains upto 70
percent of iron ore.

22. (A) The missionaries played a very important
role in the growth of press in India, their contributions
are given below :

(a) The Portuguese missionaries, in the mid-sixteenth
century, brought the printing press to Goa.

(b) Jesuit priests learnt Konkani language and by
1674, 50 books were printed in Konkani and in Kanara
languages.

(c) Catholic priests printed the first Tamil book at
Cochin in 1579 and in 1713, they printed the first
Malayalam book.

(d) The Dutch Protestant missionaries had printed 32
Tamil texts by 1710.

OR

(B) Printing revolution not only stimulated
publication of conflicting opinions, but also connected
nationalist communities in different parts of India.

(i) To reach a wider audience, the ideas were printed
in the everyday spoken language of ordinary people.
(ii) Raja Ram Mohan Roy published the ‘Sambad
Kaumudi’ from 1821 and the Hindu orthodoxy
commissioned the ‘Samachar Chandrika’ to oppose
his opinion.

(iii) A wider range of people could not participate in
these public discussions and express their views but
they read the opinions.

(iv) New ideas emerged through these clashes of
opinions.

(v) Newspapers conveyed news from one place to
another, creating pan-Indian identities.

23. Inthe USA, members and supporters of the party
choose candidates and in India, top party leaders
choose candidates for contesting elections.

24. Manav will decide whether to borrow from a
bank or moneylender on the basis of the following
loan terms:

(i) He should be able to provide the collateral and
documentation required.

(ii) The interest rate which he must pay to the bank
or moneylender along with the repayment of the
principal.

(iii) The mode of repayment, its periodicity in cash,
etc.

(iv) The penalty in case of default in repayment.
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25. The given image depicts “The fallen Germania’
painted by Julius Hiibner in 1850 (two years after the
failure of the Frankfurt Parliament in 1848). Germania
was the allegory of the German nation. In the given
figure, she is depicted as a fallen woman with the
crown and standard thrown aside. Hiibner here refers
to the event when the hopes of German people to be
united under one monarch (King Friedrich Wilhelm
IV) into one nation were shattered because he rejected
people’s demand in 1848.

26. (A) (i) Primary Sector : Activities undertaken
by using natural resources, e.g., forestry, agriculture,
fishing, etc.

(ii) Secondary Sector : Activities include various
manufacturing processes and adds utility to primary
sector, e.g. cotton to cloth, Iron ore to Steel, etc.

(iii) Tertiary Sector : This includes all the activities
which support primary and secondary sector by
providing services, such as transportation etc.

Most of the people are employed in the primary sector.

OR

(B) All the three sectors are highly interdependent

with each other in the following ways:

- Natural products are obtained from the primary
sector are used as raw materials in the secondary
sector which requires transportation.

- Secondary sector produces finished goods which
are transported to the markets for trade and
commerce.

- Essential services provided through tertiary
sector needs transportation.

- Transportation is an example of tertiary activity.

27. Integration often has challenges, like :

« Division of power

 Sharing of resources

« Alienation of minority people or region

« Dominance of majority people or region

» Distrustand discrimination between communities

- If forced integration is done, it can lead to
widespread conflict or may turn into a ‘Civil War’
as it happened in Sri Lanka between the Sinhalese
and Tamils.

- Sri Lanka had an excellent record of economic
development, education and health, but the civil
war caused a terrible setback to the social, cultural
and economic life.

- Hence, we can say that ‘Attempts at forced
integration often sow the seeds of disintegration:
So, it should be on harmonious, cordial and
amical terms.

SOCIAL Sc.
© MOCK-TEST

28. India is a secular country, unlike Sri Lanka and
Pakistan. Our fundamental rights support secularism
by providing ‘Right to freedom of religion’, ‘Cultural and
Educational Rights” and ‘Abolition of untouchability’
The Preamble states the nature of the country to be
secular. On the other hand communalism was and
today also continues to be one of the major challenges
to our democracy. It should not be seen as a threat to
some people in India but it needs to be combated.
The Constitution of India being secular provides to
all individuals and communities freedom to profess,
practice and propagate any religion, prohibits
discrimination on grounds of religion and also allows
the state to intervene in the matters of religion in order
to ensure equality within religious communities.
Hence, we can say that ‘Secularism is not an ideology
of some political parties, but it is one of the foundations
of our country’

29. Manufacturing sector is considered the backbone
of development in general and economic development
of India.

(i) Manufacturing industries help in modernising
agriculture and create jobs in secondary and tertiary
sector.

(i) Industrial ‘development ~helps in eradication
of unemployment and poverty. When a country
manufactures its own products, it becomes more
self-reliant.

(iii) Export of manufactured goods expands trade
and commerce, and brings in much needed foreign
exchange.

(iv) A country with high level of manufacturing
activities becomes prosperous.

30. (A) (a) In 1848, middle-class German
tried to unite the different regions of the German
confederation into a nation-state governed by an
elected parliament. Although, this initiative to nation-
building was repressed by the combined forces of the
monarchy and the military, supported by the large
landowners (Junkers) of Prussia.

Later, Prussia took the leadership of the movement for
national unification. The Chief Minister of Prussia,
Otto von Bismarck, was the architect of unification.
With the help of Prussian army and bureaucracy, three
wars over seven years-with Austria, Denmark and
France-ended with their victory and hence the process
of unification was completed. In January, 1871, the
Prussian king, William I, was proclaimed German
Emperor.

(b) Giuseppe Mazzini during 1830s, decided to
make a programme to unite Italy and formed a secret
society called “Young Italy”. After earlier failure of
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revolutionary uprisings in 1831 and 1848, King Victor
Emmanuel II took to unify the Italian states through
war. He got the whole-hearted support of Minister
Cavour and through a tactful diplomatic alliance with
France, defeated Austrian forces in 1859. Now he was
joined by Giuseppe Garibaldi. In 1860, they marched
into South Italy and the kingdom of the Two Sicilies
and freed the states from Bourbon rulers of Spain. In
1861, Victor Emmanuel IT was proclaimed the king of
united Italy.

OR

(B) The achievements of Napoleon are enumerated

below :

(i) Napoleon had introduced many reforms in the
territories conquered by him.

(ii) Though, he is said to have destroyed democracy in
France but in administrative field he incorporated
many revolutionary principles to make the whole
system more rational and efficient.

(iii) The Civil Code of 1804 - usually known as the
Napoleonic Code - did away with all privileges
based on birth, established equality before the law
and secured the right to property.

(iv) He abolished the feudal system and freed peasants
from serfdom and manorial dues.

(v) In towns, the restrictions on the guilds were
removed and transport and communication
systems were improved.

(vi) All these developments facilitated the movement
and exchange of goods and capital from one
region to another.

31. (A) Different methods of controlling soil erosion
are:
(a) In Hilly Areas:
(i) Contour Ploughing : Ploughing along the contour
lines can slow the flow of water down the slopes.
(ii) Terrace Farming/Terrace Cultivation : Steps can be
cut on the slopes making terraces. It restricts erosion.
(b) In Plains:
(i) Strip Cropping : Strips of grasses are left to grow
between the crops in the large fields, which breaks up
the force of the wind.
(c) In Arid Areas : Planting of shelter belts of plants,
control on over grazing, stabilisation of sand dunes by
growing thorny bushes.
(d) In Industrial and Suburban Areas : Proper
management of waste land, control of mining
activities, proper discharge and disposal of industrial
effluents and wastes after treatment.

OR

(B) Main reason : Large scale overgrazing has caused
severe land degradation.
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It can be checked in following ways :

(i) Afforestation and proper management of grazing.
(ii) Planting of shelter belts of plants.

(iii) Stabilisation of sand dunes by growing thorny
bushes.

(iv) Control on overgrazing and mining activities.

(v) Proper management of waste lands.

32. (A) The creation of linguistic states was the
first and a major test for democratic politics in our
country because since independence many new states
have been created, many old states have vanished
and boundaries of many old states were changed in
order to create new states. When the demand for the
formation of states on the basis of language was raised,
there was a fear among national leaders that it would
lead to disintegration of the country. Independence
of India came along with its partition, leaders were
apprehensive about creation of linguistic states, so
the Central Government resisted linguistic states for
some time. But unlike other countries (Sri Lanka
and Belgium), the creation of linguistic states added
strength and made the country united. This not only
ensured that people who speak the same language lived
in the same state but also made the administration
easier.

OR

(B) The exact balance of power between the Central
and the State governments varies from one federation
to another because the historical context in the
formation of federations plays an important role.
Federations are divided into two categories :

(i) Comingtogether federations: Whenindependent
states came together on their own to form a bigger unit.
All the constituent states usually have equal power
and are strong vis-a-vis the federal government.
This increases the security by retaining identity and
pooling sovereignty. USA, Australia and Switzerland
are examples.

(ii) Holding together federations : When a large
country decides to divide its power between the
constituent states and the national government. The
Central Government tends to be more powerful vis-a-
vis the states. Very often different constituent units of
the federation have unequal powers and some units
are granted special powers. India, Spain and Belgium
are examples.

33. (A) We use averages because they are useful for
comparing different quantities of the same category.
For example, to compute the per capita income of a
country, averages have to be used because there are
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differences in the incomes of diverse people. However,
there are limitations to the use of averages. This does
not show the distribution of things between people.
For example, suppose in a country, the annual
income of a rickshaw puller is ¥ 8,000 while an MNC
employee earns an annual package of ¥. 12,00,000.
The average income of this country, therefore, will
be ¥ 6,04,000. Here, actual income or status remains
unknown. One can clearly consider this a rich country
thereby ignoring the income disparity between two
individuals. Average are useful for comparison, but
they also hide disparities.

OR

(B) No, I do not agree with the statement that per
capita income is not a useful criterion at all. Kerala,
with lower per capita income has a better human
development ranking than Maharashtra because,
human development ranking is determined using a
combination of factors such as health, education, and
income. So, this does not imply that per capita income
is not useful. Rather, per capita income is one of the
development factors and cannot be neglected. The
World Bank uses per capita income as the criterion

for measuring development and comparing states. But
this criterion has certain limitations because of which
determination of Human Development Index (HDI)
is done using this criterion along with some other
development factors like health, education etc. If the
rate of population growth, is higher than the rate of
growth of national income, this will lead to fall in per
capita availability of goods and services and economic
welfare.
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34. (i) The Justice Party of non-brahmans felt that
entering the council was one way of gaining power. So
they had boycotted the council elections.

(ii) (a) The import of foreign cloth halved between
1921 and 1922, its value dropping from ¥ 102 crore to
T 57 crore.

(b) As the boycott movement spread and people
began discarding imported clothes and wearing only
Indian ones, production of Indian textile mills and
handlooms went up.

35. (i) Rajasthan is a state which faces water shortage
due to low rainfall. People use rooftop rainwater
harvesting to meet their demands.

(ii) People of Bengal have developed inundation
channels in the flood plains to irrigate their fields.
(iii) ‘Khadins' and ‘Johads’ are rain fed storage
structures in agricultural field and in arid and semi-
arid regions.

36. (i) Various sources of cheap credit in Sonpur are
commercial banks and cooperative societies.

(ii) Krishak Cooperative has 2300 farmers as
members, it accepts deposits from its members and
uses that deposits as collateral to obtain a loan from
the bank. These funds are used to provide loans to
members.

(iii) No, only the following people in Sonpur can get
credit at a cheap rate :

(a) Those who have collateral.

(b) Those who have organised themselves into
cooperative society.

(c) Those who can fulfill the documentation
requirements of banks.

37. (a)and (b)

(iii) Tehri Dam
Ahmedabad — (ii) Kolkata
(i) Chhatrapati Shivaji —
Airport
(iv) Kaiga Nuclear
Power Plant
Madras
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